Analysis of Showers
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Test Beam Analysis



How To

Sum over 20 upper pads
Multiplication of channels with lower gate by 2.1
~inal Sum division by 94 — MIP MPV

=1t of final histogram by Landau Gauss
Deconvolution

OXoistaken =1
Shower Profile picture obtained
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e Flles — 2X0, 4Xo0, 6Xo0, 10Xo, 12X0 are shown
and their MPV as a function of Tungsten planes



HL Gain

SawveHst
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* Divided by 16.6

 Shower development with different gains

E SavaHst
= Entries 99257
3000 3 bean £ 705
2500 - RMS 2 603
2000 PEENIT 199.7 { 45
5 Width 0.5+ 0.0
1500 = BAF 4.5+ 0.0
1000 Area 2.1Tde+Dd £ 7.780a+01
&500 E- GSigma 2047+ 0013
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HawveHsst
4000 Eniries 103884
3500 Mean A.613
3000 RMS 223
¥* i ndf 304 535
gg% Width 0.5+ 0.0
BAF 3401 + 0,00
1500 Aiea 2 e 04 £ 5. 2340e+01
1000 GEigma 1585 + 0012
500
Oy —2% 44 % 706 12 14 16 18 20

should repeat, this I'll check.




Conclusions

Few files 12Xo, 16 X0 are missing.
Analysis will be repeated for other gains too.
How to compare with Simulation?

How the shower Is in perpendicular plane?
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